A & 0l & AHS & Al A

2008 =& 1 3 Lty
2AHA

A BAARMHIA 29

22012 222y (==RESED)
A - ZH . H2A(3) - HRAY - BLES Olf &F K JlEH Hnz2
8,144,631 5,954,361 2,190,270
= 1,373,011 1,372,477 534
J| 409,623 389,254 20,369
EAHA

= 2,500 2,500 0
< 307, 149 305,252 1,897
z 6,052,348 3,884,878 2,167,470
A BHOZMHIA 29 5,886,793 3,931,585 1,955,208
=2 1,332,252 1,332,252 0
J| 180,732 165,428 15,304
= 2,500 2,500 0
[ 207,998 207,998 0
=z 4,163,311 2,223,407 1,939,904
22012 222y 2,025,836 1,414,836 611,000
2HA 2922 769,801 506,801 263,000
206 T ZH 19,300 9,300 10,000
01 x24I 19,300 9,300 10,000
1) X2SXHH(FLS) 19,300 9,300 10,000
2) YR}t (140H) A3 19,300,0002 19,300 9,300 10,000
307 QI2t0I& 47,975 45,975 2,000
01 92YRZ2H| 47,975 45,975 2,000
1)224] 47,975 45,975 2,000
2) BAIKIA AHIAE A3 2,500,0002 2,500 500 2,000
401 AlEHI L2 519,000 269,000 250,000
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03 EXIOHY 100,000 0 100,000
NEIH E2AX L O|FAF 201 100,000, 000& 100,000 0 100,000
04 Al&HI 419,000 269,000 150,000
10BEOIMAE EAXIA(1HL), BEHRZABHL)AILES 50,000,000& 50,000 0 50,000
10BOIMAZSEBARIAAILE S (ollH) 100,000,000 100,000 0 100,000
405 THAHFES 160,850 159,850 1,000
01 R ESFSHI 160,850 159,850 1,000
NEAXL o2+ 500, 000%2CH*1IH 2 1,000 0 1,000
22X a dgL2Fate] 1,256,035 908,035 348,000
101 QI244] 236,160 188,160 48,000
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NEHTZH HH(EATE L) 2,000,000+3% 8 48,000 0 48,000
307 I2t0lH 1,019,875 719,875 300,000
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J| 92,929 80,724 12,205
S 3,888 3,888 0
i 173,651 131,846 41,805
LHEEAHEN= 19,298 18,888 410
Il 3,169 2,964 205
& 3,888 3,888 0
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| 53 48
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28,000

7,000, 000+4CH
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28,000

49,898
19,399
30,499

6,198
3,099
3,099

49,898
19,399
30,499

6,198
3,099
3,099

16,678
3,739
12,939

A6B
A33
A33

A 1,412,00080 %1

16,678
1,478
739
739

66
ABB
A33
A33

31,320
15,660
15,660

6,264
3,132
3,132

A 37,584,000

31,320
31,320

6,264
6,264
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05 Zeltl 22,400 0 22,400
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= 720 600 120
J 28,376 23,319 5,057
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[ 1,750 0 1,750

= 1,750 0 1,750

405 XHAHFE S 4,500 0 4,500
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52,313
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126,802
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970
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HoH W

Z& 10,008,000
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32,814
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10,008
5,004
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126,802
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11,584
5,792
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1,758
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3,766
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= 3,251 4,278 A1,027
= 693 918 ~225
2 693 97 ~234
02 IZtTHEtALRY] 4,637 6,123 A1,486




oF)
K
ok
ol

© N~ w0 Ol oo o M O MO O O Ol 9O |9l ©Oo| v o
g5 Y3888 FTE°RE 818 88|18 8|3
- = < < < <<
- <4 <
n0
Klo
E
=)
QR 2K 8I8|8° 83k Q86 o I8 3838 38 ¢
I Tl Y Il S T o 6 ald N Q| B|BE 6o~
©o < [ee} N T oo < | v AV
ol
RO
m
N — o ol 9olgolo ol © O —|l© = — |0 olgolo o
crB88EEEBEELEESB>°8Y Y REERE IR
< ™ o —| < N N Tl Te) ©
ar
d
=}
oW om = o~ ~
3 G ] ]
o o o o
- (@] (@] o
3 < S S
© o 3 S
< (&)} N~ (ep)
RO R0 R0
80 R0 80
or
0
2]
3D
<
o+
=3
=
] o
o <0
o By
. =
— = )
_Iﬁ D _._ND
) ﬁ R
. E!
X o Rr A0
I+ =< = n =l
o) wl_ o | 3D _ Ol 0 X
Rl e N D s My s _
A0 W g m|m 80 PRI
Gy S|Wim o/ o I I N
ol slol|or Ao ) o H|o|= =| N
A ol = |0k oll = 0| oV |F rr|al
= A0 = 8 = =
- | = =t pay — = | o
Tele |G R S 8|7 |8
> o




oF)
K
ok
ol

DV |O© © © 0O WO|N M O LIl © W M W |V O O|lo|lo o] o
s|l2 8 © & T 8588 &88° g 88 8|88
) 3 Sl < - i ) e
- < 414 < < A<l Q2| @
Ko
E
T
Ol © A O ®W|lo O W AN O T VN AV|lo|lo o]lw|w
R88IRNIEE5IR8: 8RBT RBEYEERE
SIS C - dols Y- - leg§|9e 2lglg
[ Y]
al
RO
m
< O ® & Y| W O ®W|low o 0 ol o v|lolo o]l o] w
gEgeeR8SEE-2T2E 3R I8 E LS5
Ol v — o — o oS o = o o O|lS| ~|lalao
Ol © e =} L8 L 8
3l
d
S
i ~ o o ~ o™
o o % o i
[ I ] o O (e
[N ] (e (&)
S S R S S
s 3 L 3
© 5 = ©
0w - al =
R0 RO RO R0
R0 RO RO R0
O
£
gl
8l
<
Ik
=3
= i
iio} <
— =
o~ [
g v n
) < =3
- <F <
Rl R 0k
RO 0 o
: A i
uA| al ~
o+ al _ 5 M o al m m
- Rl 3 0 R = 20 3l
v = o 3R & mn =
R 0 M g B o~ R El Q|5 R
Slok ®moH = F WS il Mz Ko|—
Mo A A RO OF %0 3| = ol
ollor o0 ol 5 Ko &0 A0 ol | ®0 &I
== == oY =| N
3l= 5 : I R H
hY R0 |
iy 30|
o | 2
m

RO

10




2A:
X XH -
(=2l

el

- SR(3A) - NRAY -

Jio

g

Off &4

340,286

329,286
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